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% R £ 5 7,587, 949 A 384 7,587,565 9,275 192 81.8
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(1) &, A (B - FH. %)
. SH2EEFE SHTEETE

FRA ST

255 WIEMTELE Rt | WES O | #E 1288 E) | #Hk| W/6)

1 T £ | 3,650,604 18.4 3.659.604| 18.4 | 3,639,960 23.2 |  100.5

)M HEE B 162,000 0.8 162,000 0.8 140000, 0.9 |  115.7

3 HTFEEHS 5,000, 0.0 5.000 0.0 6,000 0.0 83.3

4 BHBRMTLS 14,000/ 0.1 14,0000 0.1 17,0000 0.1 82.4
BRXEEE

RO 12,000/ 0.1 12,000 0.1 17,0000 0.1 70.6

g M 7HRB 668,000 3.4 668,000 3.4 587,000, 3.8 | 113.8
xR 1~ %

; BRERGH o 0.0 0 0.0 22,000 0.1 s
xR 1~ %

g = 5t A 2l 13,000/ 0.1 13,000 0.1 7,000 0.1 185. 7
xR 1~ %

g M 7 # Al 24000 0.1 24000/ 0.1 20 000 0.1 120.0
xR 1~ %

10 # %5 35 #F & | 5 298,000 26.7 5.208 000 26.7 | 5 089,000 32.4| 1041
XBREXNE

nEAREAR 25000 0.0 2,500 0.0 3,000 0.0 83.3
SEE£E RV

ngEERY 234,267 1.2 234,267 1.2 225.804 1.4 | 103.7
FERH RV

pERB XY 231,975 1.2 231,975 1.2 264,460 1.7 87.7

WEEXH S| 5370018 27.1 5.370,918 27.1 | 1,810,995 11.5 | 296.6

58 % W & | 1557708 7.8 1.557.708| 7.9 | 1,631,892 10.4 95.5

168t &= W A 26,110 0.1 26,110 0.1 23,989 0.2 | 108.8

7E W & 270,708| 1.4 270,708 1.4 300,202] 1.9 90. 2

188 A % 431,791 2.2 431,791 2.2 153,481 1.0 281.3

9% B 2 235,564 1.2 | A 7.766| 227,798 1.1 273,958 1.8 83.2

0% W A 600,685 3.0 A 262 600,423 3.0 551,401 3.5 |  108.9

21 T | 101,50 51 1,011,500 5.1 908,768 5.8 | 111.3

(gg{;‘?";ﬁfﬁf)ﬁ (651, 500) (3.3) (651, 500) (3.3) (522, 300) (3.3) (124.7)

& & 19,829,330 100.0 | A 8 028| 19,821,302 100.0 | 15,692 910 100.0 |  126.3
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#3 WENTHE WAL | WES | # o ek |2ARE®e) #maw| W/E
2 =z 7 184, 488 0.9 A 467 184, 021 0.9 184,647 1.2 99.7

w B # 4,885,456, 24.6 A 2,513 4,882,943 24.6 1,848,868 11.8 264.1

E £ £ 4,858,920, 24.5 A 2,164 4,856,756| 24.5 4,751,455 30.3 102.2

wm o4& # 1,949, 507 9.8 A 385 1,949,122 9.8 1,672,062 10.6 116. 6
B & 174,276 0.9 A 19 174,257 0.9 173,660 1.1 100. 3
EMKEXE 874, 649 4.4 A 402 874,247 4.4 801,626| 5.1 109. 1

m I # 1,027, 433 5.2 A 2571 1,027,176) 5.2 623,685 4.0 164.7
r X £ 2,118,592 10.7 A 4851 2,118,107, 10.7 1,960, 730| 12.5 108.0
H OB B 580, 570 2.9 580,570 2.9 608,179 3.8 95.5
% 5 7 1,436, 335 1.3 A 1,336 1,434,999 7.3 1,376,275 8.8 104.3
KEEBE 0 0.0 0f 0.0 0f 0.0 -
2y & % 1,729,104 8.7 1,729,104) 8.7 1,681,723 10.7 102.8
BF w = 10, 000 0.1 10,000, 0.1 10,000 0.1 100.0
a H 19,829,330, 100.0 A8,028] 19,821,302 100.0 | 15,692,910 100.0 126.3
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P WEMTEE WAL | WES O || 1288 0)  #aw| B/6)
EBMHREE 7,310, 448 36.9 A 7,619 7,302,829 36.8 7,033,829 44.8 103. 8
A B % 2,668, 532 13.5 A 7,619 2,660, 913] 13.4 2,585,685 16.5 102.9
® B B 2,912,812 14.7 2,912,812| 14.7 2,766,421 17.6 105.3
©n & E 1,729,104 8.7 1,729,104 8.7 1,681,723| 10.7 102.8
EEMRE 1,584, 996 8.0 0] 1,584,996 8.0 1,342,726 8.6 118.0
Hm e E X 1,134, 557 5.7 1,134, 557 5.7 1, 060, 608 6.8 107.0
B oy F OE 414,154 2.1 414,154 2.1 253,918 1.6 163. 1
z ﬁ?ﬂ$ § 36, 285 0.2 36, 285 0.2 28, 200 0.2 128.7
ZTOMITHEE 10, 933, 886 55.1 A 409] 10,933,477 55.2 7,316,355 46.6 149. 4
m H B 2,830, 807 14.3 2,830,807, 14.3 2,426,996, 15.4 116.6
MEHEE 334,037 1.7 334, 037 1.7 317,004 2.0 105.4
W B ESE 6,075, 359 30.6 A 471 6,075,312] 30.7 2,100,641, 13.4 289.2
EffEHES 245, 000 1.2 245, 000 1.2 277,628 1.8 88.2
" H £ 1,395, 620 7.0 A 362 1,395,258 7.0 2,165,180 13.8 64. 4
B I # 43, 063 0.2 43,063 0.2 18, 906 0.1 227.8
¥ ®m E 10, 000 0.1 10, 000 0.1 10, 000 0.1 100.0
= B 19,829,330/ 100.0 A 8,028] 19,821,302| 100.0 | 15,692,910/ 100.0 126.3
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